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distribution of computation

Normal and soft algorithm
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For simplicity, only the process of a two candidate dependencies are shown, with only 1 LHS variable Lgns® s L | =
All other functional dependencies are calculated in the same way at the same time (b, 5, c) 3 Denendency [Maximum
(b, 6, c) a ) | Distance boflleneck
0.001% 2969 5433 196.05 [RRLEEERL 0.001% 2972 3541 | 102 hard dependencies delta dependencies for 6=25
0.01% 42.10  110.57 - 107 0.01% 555 {hpuse_num, last_name} -> {voter_status_reason_desc} {age_group} -> {age}
0.05% 94.06 [ 0,055 {first_name} -> {state_cd} {sex} -> {salary}
' : [ ' {first_name, street_name} -> {mail_state} {age, voter_reg_num} -> {county_id}
0.1% 0.1% . . . .
9 " 6x 10! {first_name, zip_code} -> {res_city_desc} {last_name, paky_desc, street_name} -> {county_id}
2 %, 2 5% . . .
g 09" g 05 {county_desc} -> {county_id} {county_desc, ncid} -> {zip_code}
1.0% ] 1.0% {first_name, street_name} -> {voter_status_desc} {midl_name, res_city_desc, street_name} -> {zip_code}
o | 10 N . .
5.0% 5.0% 4% 10! {midl_name} -> {state_cd} {first_name, house_num, race_desc} -> {salary}
7.5% - 931.10 7.5% - 95.08 {county_id, last_name} -> {county_desc} {house_num, last_name, midl_name} -> {county_id}
10.0% - 1145.68 10.0% - 112.20 3% 10! {midl_name, voter_status_reason_desc} -> {voter_status_desc} {county id, house num, last_name} -> {zip_code}
L;, 1I0 1‘5 Zb 2|5 é llO 1I5 ZIG 2l5
Columns Columns
sofl dependencies for t=0.8
{county_id} -> {county_desc}
{voter_status_reason_desc} -> {voter_status_desc} interesting unexpected dependencies
Execution time for different combinations of number of rows CPU: Ryzen 7 3700X 8 Cores / 16 Threads {state_cd} -> {mail_state} expected dependencies

RAM: 32GB DDR4 3600Mhz

and columns. Time in seconds, blank spaces represent a failed run.  Disk: SSD NVME Western Digital SN550 2400 MB/s

{voter_status_desc} -> {mail_state}



